X # 3 K

4 S| £ LGS POk 14 FE OE T ook 15 B TR 16 4 o 17 DL B FORE w It P 164F ELE O
5w x4 T % R R EE R ¥ ERE T EE R fog R | HIOHIS%) | T E%)
n WikbE N= 47 B K% N= 47
= S56 ~ HI5 A B L= 24.9n K L= 24.9n
7 # JHE SR H N= 1 | 5,224,000 @ #r4L N= 1 | 5,026,000 | HErhigal N= 1K 198, 000 0 100
ng A =2494ha PEK % L= 5.6km Hrk s L= 5.6kn 55T A N= 1%
s ~ HI17 [ A =197.7ha [T A =197.7ha
0 . 2,789, 000 2, 155, 000 281,000 | & T ¥ N= 1t 150,000 | 5 7 %4 N= 13t 203, 000 53 93
I 7 s HE A =134.1ha o HE A= 7.1ha o HE A = 50.2ha ] A = 25.0ha w3k A= 51.8ha
# WoT A =272.9ha WoT A =272.9ha
3| HS ~ HI7 SETH#M  N= 1% SETHEM N= 1
ow T A=216.8ha | 2232000 oy A=156.2ha | 5887400 |y A= 42.7ha | 22100 100,000 | e 4y A= 17.0ha | 293600 40 o4
Y % + A= 54.8ha % + A= 54.8ha
# W A =470.6ha T A =470.6ha
Wl . STHME  N= IR STEM N= IR
/ Z W A=350.9ha | 92000 | A=163.3ha | %2400 | g A= 92.0ha | 232000 |y A= 25.0ha | 220000 | p A= 69.7ha | 296:600 47 93
% +- A = 54.8ha % + A= 54.8ha
T . WK - /N A B X WKk - N B X Wk - /N WX WAk - /N A M X
e ZJU A
ERANBRERIE om0 o sk | 0B w0 VT8 moan . sk | OO 8 100
[E = A -4 £ =S I A -4 P A . S S - AN = I I S B/ S -
B oe % % EOE B W OW OB — R 13,800 O T mom e ow — R 00 2 e o — R 6,800 o1 100
. 7K F it B3 K il it % 7K F1) it X
Kt | 3%
B PR Al e HE 2 P 5 o & 148, 079 90,130 | Jue 1 - X 33,943 | e 1 - & 24,006 71 100
s T e . K F it 43 ® o4 w1 — KX #® 4w B — KX % fii M 1B — K
HE 3 5 B OE AL o S %M s — 5t 26,430 | 4 o o o 2L630 |\ e we g ok 2,800 Hoow g 2,000 71 100
BRI K | BEE B AT A T PEEE T PR
A EEsE |l % - % 132,000 | o0 o A 129,000 | o Tk 3,000 0 100
kb N= 4757 iK% N= 47%pr Bk N= O0%pr Bk N= 0%#F Wik N= O0##r
FI K L= 24.9n K L =24. 9kn PN L= Okn K L= Okm Ak ¥ L= Okm
FE R N = 15X S g R N = 154 S g R N = 138 g R N= 0% Hrh g R N= 15X
HEA S L= 5.6kn HEAK % L= 5.6kn HEAK S L= 1km HEA S L= Okm HEAES L= Okm
£ BHE T N= 0#FF | 13,613,877 | BH T N= 0#FF | 11,906,440 | B T N= 04 858,496 | BT N= 0#ff 352,341 | BEE T N= 0# 496, 600 41 96
T A =470.6ha T A =470.6ha T A= 0.0ha oI A= 0.0ha T A= 0.0ha
s A =350.9ha wr Pk A =163.3ha R A = 92.9ha B Bk A = 25.0ha W Bk A = 69.7ha
% & A = 54.8ha % + A = 54.8ha % + A= 0.0ha % + A= 0.0ha % * A= 0.0ha
5E T i N= 13X 5¢ T & fii N= 13X
[ 2 A B KR B2 T | IR BRE ) A U e FRHE 5= K MR R GHARKHEE | SRR | B
S52~H4 SHETLLIAP | Bl g /8\552~S;5é A =964pg | SO4H3 S55~H1 $53~ 857 S54~ S59 S56~ S61 H5~H10 S58~H1
2= | A=3,120ha JIKEE L =24.9km | H3~H5 A =3,120ha 9 417 472 A =372ha A =232ha A =53.1ha A =91.6ha A =116.4ha YetkdEt —X A =40.7ha
17, 462, 377 131,000 L 3,119, 000 2,080, 000 317, 260 523,100 680, 000 420,794 284, 267
i RUNBUEHEAK TR EL TR —F MK | B LA i 2 W5 A - b H i ks EVEIE A b I BEI MR gy 1 A ke N AN = o i L PR A X P g UL B
T | S63  WHEA=5ha | S61.62 S63~H2 A=3%ha | S63~HS5 S62~H4 H4~H5 H5~H6 H6~H7 H7~HS H8~H9 S62~H10 HI3
JHAKEE L =0. 6km JKEE L = 1km A =19.0ha A =56.3ha A =10.7ha A =39.7ha A =12ha A =18.3ha A =8.%ha | A=104.0ha A=19.1ha JAAKZETLL =1. lkm
" 25, 000 13,570 258, 750 165, 650 418,307 100, 000 420, 700 169, 900 289, 900 161, 000 1, 689, 480 7,500
KN 7
H10~H14
X A =45.5ha
829, 000
o it 23 0 K| i TRRER A=1502.30 | ETHIKIER | 319,810,020
PRAR ST 45,597, 906 TG4 E TOYER 45,101, 306 FRR6E FE ¥ TR 99%

45 )

<46 b




